- 28SJIE})

=" (e & 2l)
S - BE . SRI(SIH) - NISA - BES 0l ar o ol & o HimE==l

wES 83,358,702 81,901,504 1,457,198

= 22,833,210 23,682,200 848,990

s 8,292,000 8,292,000 0

Jl 5,974,000 5,974,000 0

£ 830,000 0 830,000

& 45,429,492 43,953,304 1,476,188

WEHEY M (RSLER/UELE - 2FSIIEH 41,681,668 41,588,116 93,552

= 6,162,210 5,761,200 401,010

s 8,292,000 8,292,000 0

J| 5,974,000 5,974,000 0

= 21,253,458 21,560,916 A307,458

CHEsnsSAHIA &4t 26,213,585 25,887,293 326,292

= 6,075,210 5,674,200 401,010

s 6,832,000 6,832,000 0

J| 5,974,000 5,974,000 0

& 7,332,375 7,407,093 AT4,718

UEnsE MdlA A 1,441,745 1,504,213 A62,468

308 KXISHMSO0IH 189,900 231,750 241,850

01 AXEHBAEES 189,900 231,750 241,850

OH{Al CHXHEIE XI& 189,900 231,750 241,850

403 XX SHHSK=01H 1,228,5% 1,249,213 220,618

01 IXISHHAEEE 1,228,59% 1,249,213 220,618

O"”Al otMAY HX| 14,667 34,550 219,883

OEHEEA 435} 223,020 223,755 AT735

MaHA EB8x(=21) 2,967,250 3,169,400 2202,150

= 2,282,500 2,438,000 A 155,500

= 684,750 731,400 246,650

403 XX SHHS K201 2,967,250 3,169,400 A202,150

= 2,282,500 2,438,000 A 155,500

< 684,750 731,400 246,650

01 XtXIEt X AH=2E = 2,967,250 3,169,400 A202,150

OMAHA EAEX 2,967,250 3,169,400 A202,150

= 2,282,500 2,438,000 A 155,500

= 684,750 731,400 246,650

SEuUESY TUBEA(=1) 1,554,800 1,622,400 267,600

= 1,196,000 1,248,000 252,000

= 358,800 374,400 215,600

403 XX SHHSK=01H 1,554,800 1,622,400 267,600

= 1,196,000 1,248,000 252,000

& 358,800 374,400 215,600

01 XIS 2EE 1,554,800 1,622,400 267,600

OSgusS=t &Y 1,554,800 1,622,400 267,600

= 1,196,000 1,248,000 252,000
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LA

==
ESE= %zﬂéﬁ HE(DSEEF/USLS - SF[SIIE
Eel: HESnsSAblA e EEREED
SA - 3H - SA(3AH) - MRAY - BdS Ol &4 Jl & A HwsZ
| S 358,800 374,400 215,600
22T SEIESH 2EXNIA(ZER) 1,378,000 1,059,000 319,000
= 1,378,000 1,059,000 319,000
308 AXIHMSO0IA 1,378,000 1,059,000 319,000
= 1,378,000 1,059,000 319,000
01 XN B EES 1,378,000 1,059,000 319,000
OEguss+H 2SI 1,378,000 1,059,000 319,000
= 1,378,000 1,059,000 319,000
LEWNEIIE XA (=1D) 85,610 46,100 39,510
= 85,610 46,100 39,510
308 KtXIEHMSOIH 85,610 46,100 39,510
= 85,610 46,100 39,510
01 XX SHHBLELZ 85,610 46,100 39,510
oZsns3xHE XN 85,610 46,100 39,510
= 85,610 46,100 39,510
4dE SHSEE =5 HEHA X2 627,000 677,000 250,000
201 B3| 627,000 677,000 250,000
01 At22telt] 627,000 677,000 250,000
OFAE SHSEHY =5 HAEHA X2 627,000 677,000 250,000
MaaS Station 75 AlZHAIH(Z1) 350,000 0 350,000
= 250,000 0 250,000
= 100,000 0 100,000
308 XX HMSO0IA 350,000 0 350,000
= 250,000 0 250,000
== 100,000 0 100,000
01 AXHHBLEL= 350,000 0 350,000
OMaaS Station = AIEHAIS 350,000 0 350,000
= 250,000 0 250,000
= 100,000 0 100,000
thsws MEXR 15,007,583 15,240,323 A232,740
s 1,460,000 1,460,000 0
S 13,547,583 13,780,323 A232,740
AMeIHAZSEAE THEXIR 6,838,663 7,058,263 2219,600
307 eI2H0IH 6,838,663 7,058,263 £219,600
09 2+YHELS 6,838,663 7,058,263 219,600
OAIIHA 2+BALAL 220H2H HAXIA 948,600 1,168,200 A219,600
MU - SHEHARSAS HEXIR 5,560,420 5,569,060 28,640
308 AXIHM S0l 5,560,420 5,569,060 28,640
01 AXHHBLEES 5,560,420 5,569,060 28,640
OAMU - sHEHA 2B AH 2202 i
SN2 660,420 669,060 28,640
HASSAEA BE=X24 HEEY 115,500 120,000 24,500
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==
4 %%ﬂ@ HE(DSLEF/UHSLS - 27SIIE
el HEsns MEAA EEREED
SA - FH - SR(3) - MTAY - BES 04l & ol E o HimE=FT
207 A0 115,500 120,000 24,500
01 HESHHI 115,500 120,000 24,500
OHAZSML dE=XI24 258 115,500 120,000 24,500
WSAMEH N (LSELEFR/E2) 40,129,160 40,150,900 221,740
= 16,671,000 17,921,000 21,250,000
= 830,000 0 830,000
< 22,628,160 22,229,900 398,260
WECHHAIL &F 40,129,160 40,150,900 221,740
= 16,671,000 17,921,000 1,250,000
£ 830,000 0 830,000
< 22,628,160 22,229,900 398,260
2 ASEDSHATS) JI2HE =8 S 169,260 200,000 230,740
207 SAoH2H| 169,260 200,000 230,740
01 H2E I 169,260 200,000 30,740
OLJE NsERSHATS) JI=2HE =
9 169,260 200,000 230,740
ANIH 2Sels 25 A (212) 0 1,250,000 21,250,000
= 0 1,250,000 1,250,000
403 XIS SKHE0IE 0 1,250,000 1,250,000
= 0 1,250,000 21,250,000
01 AXESHMA2Ex 0 1,250,000 21,250,000
0= Z8ds FEAMY X 0 1,250,000 21,250,000
= 0 1,250,000 21,250,000
HEloI252S YSEEe] EXAMS(E) 858,000 0 858,000
= 429,000 0 429,000
< 429,000 0 429,000
401 AlEHIZL 20| 858,000 0 858,000
= 429,000 0 429,000
= 429,000 0 429,000
01 Al=H] 858,000 0 858,000
O00IE5 7Y S EECl EXIAMS 858,000 0 858,000
= 429,000 0 429,000
< 429,000 0 429,000
Oelol2s29 LSSEtel XA (AIZ) 401,000 0 401,000
= 401,000 0 401,000
403 AXIEMSA=01E 401,000 0 401,000
= 401,000 0 401,000
01 AXEHA2Ex 401,000 0 401,000
O0B0IES 7Y S EEC £XIAM 401,000 0 401,000
= 401,000 0 401,000
HRes(Re)(NSAER/USNS - 2RSIIEY 1,514,442 129,056 1,385,386
FSONE= 1,514,442 129,056 1,385,386
USF2 BHES 1,514,442 129,056 1,385,386
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Ha: 2=/050S
=CE P E)
M- Z33 - SA(3) - HRAY - BES Off k94 Jl & A HnsZ
DIt 1,514,442 129,056 1,385,386
x3 1,514,442 129,056 1,385,386
2 Sact 29T 21,040 0 21,040
A ASOHTZ XIRA 308,923 0 308,923
o ENE 690,833 0 690,833
6XF LB AIDIAL BHAIXI R 35,718 0 35,718
FEDSIE KR 4 0 4
OlRI0I2 SR M AreS 255 0 255
OlRI0I25 7Y POINSSETY| S
2,6% 0 2,606
SAl 2 489 0 489
CAIE 428 428
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